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Vyplň pracovní list – přítomný čas průběhový. Nezapomeň, že přítomný čas průběhový je tvořen slovesem + koncovkou ing.
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e o “ing” form of the verbs in the present continuous.
gee doweso v PF ommém Lase pripéiovim.

%‘,%Mb:re /_ng_.uﬂ— (play) hockey this afternoon.
e

124 ’ they are (eat) lunch.

1t’5 poo™ (wake up) after a long night.

(get dressed) for the concert now.

/’/___
}{e is (watch) the game ornot?  f T

e WE

(drink) the water. WA S
h (go) to the cafeteria now? My
s sheare e (sleep). D 1 N Nc R
They o

" brother ia (take) a shower.

(play) a fantastic match! ¢

(do) her homework? y
I g =
is she (eat) dinner. ~
am_————

-y sister (study) her lessons.
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